Summer Packet - 5™ into 6™ grade Name _ A NSWER }\t)d)

Addition 11
Find the sum of the two numbers in each problem.
Show all work. Example: 4 4 8
+ 18 8
| 6 3 6
1. 652 2. 203 3. 726
+ 345 + 525 + 268
Q9F 733 T

Decimal Addition:
Remember to line up the decimals before adding. Bring the decimal straight down in your answer:.

1

4, 775 5. 514+ 286 6. 1274 + 8.25
gg\ 51.U6 0. 1274
; +02.36 +3. 2500
Sli..: —5 377K
Sh- 6 g3
Subtraction ‘ 4 3
Find the difference between the two numbers in 2 1 8
each problem. Show all work. Example: -
5 2 5
7. q 8 q 9 1
oY %07 344
- 198 -2,426 -1218
209 153 2,186

Decimal Subtraction:

Remember to line up the decimals before subtracting. Bring the decimal straight down in your
answer.

10, &1 i A 12,

g
1335 38 80.401 - 44.23 75.89 - 9.4
. 14927 T 2
T =b. Y b

o — el . 230

36. | 7|






Multiplication Example: x16

Find the product of the two numbers in each 324
problem. Show all work.

+540
864
13. 2 14, \ 15.
65 42 84
X X 8 x 39
RO 336 | 5 (6
\(':) ;{ O
“?354’3F o

Decimal Multiplication:
Multiply as you would with whole numbers. Count the decimal places in each factor. The product
(answer) has the same number of decimal places.

16. 7 18.
13 51 108
x 70 X 2 X:.2.5
0 G0 0.2 054 0
+9 10 A1 60
L) 3700
Division
Find the quotient in each problem. If there isa remainder, state the
remainders as R=____. Show all work. Feel free to use a separate sheet of
paper.
19, 20. 21,
gl R=3 20 &5 R=J6
7)591 12)264 43)2815
el ! 2
] 4>? u FES
—d8 4 A5

) e —

3 S 20



Decimal Division:

3

If the divisor (outside number) is a decimal, you must move the decimal point (using multiplication)
to the right until it becomes a whole number. Then, move the decimal in the dividend (inside

number) the same number of times. Divide to find your answer (quotient).
Then, move the decimal straight up from the dividend to the quotient.

Remember, no remainders.

quotient

div isori dividend

Round to the nearest....

25. tenth
0.3479

G

Compare the decimals.

31. 0.205 @ 0.21

34, 01 @ 0.1000

26. hundredth
0.7553

0.76

29. thousandth
0.0036

0y 00D u

32. 103 @ 0.03

35. 0.52 @ 0.500

22. 23. 24,
‘ C’e(()
3 318\ 3‘)7\4}5 . .12512.33,‘
“'i FFdes 1251 4.
,.__.’\:[L‘-— . o — r\; \L: =) ] ’
g o 0 O LV B
1)2 q’ (LII“;,:')\L«
“l C‘§ < 7(,_/:A
il e 4X L’
HS -~ H
—=a
Rounding Round to the
Underline the given place value. Look to the right. If this digit is nearest...
5 or greater, increase the underlined digit by 1. If the digit to
the right is less than 5, keep the underlined digit the same. hatidredih
0.547 0.55

27. whole number
3.268
A
30. hundred
990.54

OO0

Compare using <, >, or =
1.2 O 120 12=120

33. 0.04@ 0.050

36. 041 @ 0.405



Prime Number: A whole number greater than 1 that has only two factors, 1 and itself.
Examples: 2, 3,5, 7,11, 13,17, and 19 are all prime numbers.

Composite Number: A whole number greater than 1 that has more than two factors.
Example: 8 is a composite number since its factors are 1, 2, 4, 8.

Determine if the following numbers are prime or composite. If the numbers are composite,

please list all of the factors.

7. e Wy 434 Compesite

38. 39 1.,3.1%,3% m»«mlbra\{t",

39. 43: Dr': me

40. 49: 1, U Composite

Exponents

A way to show repeated multiplication by the same factor is o use an exponent. In this
example: 2°= 2 x 2 x 2 = 8. The small raised three is the exponent. It tells how
many times the number 2, called the base, is multiplied by itself.

Solve the following expressions by writing the expanded notation (repeated multiplication) and
find the value.

4. 62 42, 2 43.  3*
44.  eight squared 45,  five cubed
o 94 = ‘i
0 )



Greatest Common Factor

The greatest factor that two or more numbers
have in common (GCF).

1. List all the factors of four in order
List all the factors of twenty in order
List the common factors

Finding Common Factors:
4:1,2, 4
20:1, 2, 4, 5, 10, 20
Common Factors: 1, 2, 4 GCF=4

2.
3.
4. Write the greatest common factor

List all the factors for each number. Circle the common factors.

46, 18:_1.2.3,6.9 1%

30 { &) A \"2)4‘ :;,\(D 3 }Cl'\ 15 ) ))L)

Common Factors: _ ! )<, l{; (o Greatest Common Factor: (o
47. 60:_ 1,235, 0,656,101, 15 30,30,60

45: 1, 3,5 .9, 15 .48

Common Factors: |, 51515 Greatest Common Factor: |55
48. 23:__1., 4 3

29. f ) 21

Common Factors: | Greatest Common Factor: __|
49. 56: Ly U T B 14,28 NG

721,32 5 0,6 8 T 1A 192U 36,7d

Common Factors: | QL}LI 50

\
7]

Greatest Common Factor: Z?



Least Common Multiple Finding Common Multiples:

The smallest nonzero multiple that two or more 4: 4, 8, 12, 16, 20, 24

numbers have in common. 6:6, 12, 18, 24, 30, 36
Least Common Multiple= 12

List the first 6 multiples of 4
List the first 6 multiples of 6
List the common multiples

Write the least common multiple.

Hwpe

8: 8 16, QW 33, U0  UZ

12: 14,20 .36, 3 6O, Fa

Common Multiples: _ XL} | LI X Least Common Multiple: _{U

724 0 A\ Q8 35 4A, 1T, 56,63, 70,77

7

:(l, 35, Ly, 25 e 77

)

Common Multiples: s Least Common Multiple: 14

261 Q5 &S0, ¥5 100 3§

)

10: 106,20, 20, U0, 50

7

K0

Common Multiples: ) Least Common Multiple: 50

Common Multiples: E) Least Common Multiple: 2,




Prime Factorization is a composite number Find the prime factorization of 36.

renamed as a product of prime numbers. You 36
may make a factor tree to find the answer. Put " /N ¢
inal i t . X
final answer in exponent form 74 Y
2x3 2x3 2% x 3°
55.
180 525
2% i ey ,
g 96 5 10>
N Yy
1 uS S5 al
/\ %
B g 5 f
SN\ ) . 5
35 55z 3 x5 %+
t 'C‘»C\ = o? X )) XD
57.
91 48
/\ Y
2 s 2 2y
£ ™
= S P,
s sl VAN
=215 q G
o
2 T




Comparing Fractions

ols — vl

Compare each pair of numbers. Write the Example:
correct comparison symbol ( <, >, =) in each
circle. Make sure you have common
denominators before comparing numerators.
58. 59.
© HoF
8 8 4 8
e 3
5] 8
61. 62.
HOR : @ 3
7 4 5 6
12 = 3 RS
Qg a8 30 30
Ordering Fractions
Order the following fractions from least to greatest.
64. 65
2 2 4 2 i L]
8 8 8 8 8 3
2
2 2 b 5 £ 6
gz & 8 & &
\O
66 67.
i 4-1 1 2
2 4 6 3 5 2
a8 32
36 15 10, 0. 12 6 m

— nlw

2
12

60.

1O

2 8

4y

¥ 1
63.

JoF

8 4

+ 6

g B
4 1 6 7
5 10 10 0
8., A, & =
t© 16 7o 1o
Vb o
5 10 W0 &
S 30 39
16 64 8 32
20 20 24 18
o4 L4 LU Wy
5 2 3206 &
. B WaE o



Order of Operations
Solve the following problems. Show your work. Be
sure to follow the order of operations.

Parenthesis

Exponents

Multiplication or Division: Which ever comes first
from left to right.

Addition or Subtraction: Which ever comes first
from left to right.

Example: 8-4-+2+2=

8-2+2:=
6+2:=
8
68. 15x8-3= 69. 36+4x3= 70. (30+8)x6-1=
=8 % O 4 22 X G~ =
¥ 27 JER=1 =
Ly
71, (30+8)x(6-1)= 72. (29-18)+14:2+6= 73. 64+8x2 —
32 X 5 = I HIgLates g Xz
190 Il + F Yoz | o
3 + 6 =
ol
74, 36-5(16-11)= 75. 25 +18+6-1= 76. 24+6%-1* =
36-5#5)= A5t -1 = AUABE-1 =

Sl =l = LO —\ =
6-35 = 30 59
K
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Geometry-Who am I?
Use the following shapes to answer the
questions below.

0 [+ @A

77. I am a2 dimensional shape that has four sides. I have four 90 degree angles. I have
two sets of parallel lines. I also have two sides that are one length, and my other two
sides are a different length.

Whoam I?__Yectan (}S\G_ (A>

78. I am a 2 dimensional shape that has three acute angles. All of my sides are the same
length. I have no parallel sides.

Who am T2 _Eaw\ ladeve) triangle (D)
. (

79. T ama 2 dimensional shape that has four sides. I have two obtuse angles and two
acute angles. I have two different sets of parallel sides. I also have two sides that are
one length, and my other two sides are a different length.

Who am I? ]T,m'rx\le\oq\mm (ED

80. I am a 2 dimensional shape that has 5 obtuse angles. I do not have any sides that are
parallel.

Who am I? '\’)t\\\ CMBC 0O CC)

81. I am a 2 dimensional shape that has four 90 degree angles. I have four sides that
are all the same length. I have two different sets of parallel lines.

Who am T2 _ 5000 € ( Ew

82. I am a 2 dimensional shape. My perimeter is also known as a circumference.

E R
WhoamI> _Circle  (F )



Simply Fractions

Simplify the following fractions. If the fractions
are improper, change them to mixed numbers
then simplify.

83. 84.
L S 15
283 MNTL L
OR .
A
QB &y~ 2
86. 87.
3472 [+
48 -2 au 4

Adding Fractions and Mixed Numbers

Add the following fractions. Make sure
you have common denominators before adding.
Remember, you only add the numerator (top
number) and you keep the denominator (bottom
number) the samel Simplify your final answers.

89. q 90. g
6 3 3 2 5 5
g e 22 +12 =32
1010 10 53 &

Example:

Example:

85.

—_
(9}

|Ln «— W[~

_1_0_-2-5:
25+5H=

I

88.

|bJ 4— | =
"

._.
W
—
m|°°

92.

12-3

51+%

1

\F



Subtracting Fractions

Subtract the following fractions. Make
sure you have common denominators before
subtracting. Remember, you only subtract the
numerator (tfop number) and you keep the
denominator (bottom number) the same!
Simplify your final answers.

93. 94.
53_2_ 1 8 3
St BT o s e
6 6 L O 2 12

\;‘/
bal

Multiplying Fractions

Multiply the following fractions. Multiply
the numerators; then multiply the denominators.
Simplify, if necessary.

Example:
95.
J 4
10 4
14
Q0
.2
A0
Example:
99,
1 2
—X—
2 3

96.

100.

12






Decimal Divicion

Complete the following division problems on notebook paper or
grid paper. Use the standard division algorithm. Number the
problems on your paper. Show all your work. Make sure to aneswer

problem #11 as well.

1 Divide 9.84 by 8

24
% o 7
2. Divide 16.52 by 7
Y Yo
P ey o

Z s 4] W

3. Divide 0.0325 by 0.013

,;‘f.r @ ;:
4. Divide 0.275 by 0.25

a

L R

5.  Divide 2.405 by 0.37

( L,
De
6. Divide 4.214 by 0.49

7. Divide 4.5 by 0.125
8. Divide 3.888 by 7.2
9. Divide 0.000405 by 0.00075

(o oM

10. Divide 0.0098 by 0.28

(0.0 20

1.  Explain why 2.75 + 0.25 has the same value as 27.5 + 2.5.

The divisor and the dividend
have the same number of decimal places.

ANSWER KEY



ANSWER KEY

Coordinate Plane and Quadrants

e BLalEE s ___AM'H. T
5%
L7 (0.3) o
f g
? -1‘ 0 V§2Icll) L} S
{ ,—l s.)qz ~: — "q&r#,’ b
e
T e e )
I S O R f..._..w_.;,.._.g.}gl Y,
Write the ordered palr for each point on the coordinate
Ao, 31 Bl 3, -5) ey Df ., 5)
E(r2,0) s,y GLZ, 5 ) Hi=4 2 )
Pilot and label the following points on the coordinate plane above.
Qa1 RG3,-3) 5(-5,-2) T(0,3)
U(3,5s) V@0 . W(1,4) X(4,-6)
Write the quadrant that each point is found in. '
U ool g s_111
FAV .1 Iy p Il

Challenge!
Plot and label the point Y (-3.5,-1.5) on the coordinate plane.

What quadrant is point ¥ foundin? | ! |
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ANSWER...... . KE'Y

The following example explaint why we multiply by the reciprocal to
divide fractions:

Check your answer for each problem using multiplication:

9 1 3
= =7
Does s X = equal T

If so, your answer to the division is correct!

To divide fractions, then, you multiply by the reciprocal of the divisor:

For the example above, — + %

you would multiply % by the reciprocal of %.

Please show all your work (including the multiplication check)

for each problem!
T2
y
7.5 3 ANSWER:
4 2.8
’ 42
%

v

@l

v 4

@.
D
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itiplic

Mul




ANSWER KEY

Ratios & Proportions

Set up a proportion to solve each problem. Show all work, and labe/ al/
answers.

The ratio of boys fo girls in a class room is 7 to 11. If there are a

total of 49 boys in the classroom, then how many boys and girls are
there altogether?

7 boys 49

11 girls 77 girls

If two pounds of meat will serve 5 people, how many pounds will be
needed to serve 13 people?

2lbs  5.21bs
5 people 13 people

Mr. Johnson was paid $190 for a job that required 40 hours of work.
At this rate, how much should he be paid for a job requiring 60 hours
of work?

$190 B $285
40 hours 60 hours




A certain shade of green paint is made from 5 parts yellow mixed with
three parts blue. If 2 cans of yellow are used, how many cans of blue
should be used?

5yellow  2yellow
3blue 1.2 blue

If a four-pound roast takes 150 minutes to cook, how long should a
five-pound roast take?

4 |bs _ 5 lbs
150 min =~ 187.5 min

A recipe calls for 2 3 cups of flour to make 2 dozen cookies. How many
cups of flour would be required to bake 15 dozen cookies?

1
2zc  1875¢
2 dozen 15 dozen

A crew of loggers cleared 3 acre of lumber in 4 days. How long will it
take the same crew to clear 2 7 acres of lumber?

21
1/2 acre .47 @ACTES

4days 18 days




